S
REACH 15 W
HE 2|
Recommended Dimension:
%: h8 Shaft: h8 = =
5{2: H8 Hub: H8

L 1

L1
Le
L3

14 |55 | 62 | 17 | 22 | 30 | 38 37 259 415 106 4 | M8x25 41
16 | 55| 62 | 17 | 22 | 30 | 38 37 296 363 106 4 | M8x25 41
18 |55 | 62 | 17 | 22 | 30 | 38 37 333 357 117 4 | M8x25 41
19 55| 62 | 17 | 22 | 30 | 38 37 352 338 117 4 | M8x25 41
20 | 55| 62 | 17 | 22 | 30 | 38 37 370 321 117 4 | M8x25 41
22 | 55| 62 | 17 | 22 | 30 | 38 37 407 292 117 4 | M8x25 41
24 55|62 |17 | 22 | 30 | 38 37 445 268 117 4 | M8x25 41
25 |55| 62| 17 | 22 | 30 | 38 37 463 257 117 4 | M8x25 41
28 | 55| 62 | 17 | 22 | 30 | 38 37 519 229 117 4 | M8x25 41
30 | 65| 62 | 17 | 22 | 30 | 38 37 556 214 117 4 | M8x25 41
24 | 65| 72 | 17 | 22 | 30 | 38 46 556 335 124 5 | M8x25 41
25 /65| 72 | 17 | 22 | 30 | 38 46 579 321 124 5 | M8x25 41
28 | 65| 72 | 17 | 22 | 30 | 38 46 649 287 124 5 | M8x25 41
30 65| 72 |17 | 22 | 30 | 38 46 695 268 124 5 | M8x25 41
3265|7217 | 22 | 30 | 38 46 741 251 124 5 | M8x25 41
35 65| 72 | 17 | 22 | 30 | 38 46 811 230 124 5 | M8x25 41
38 65| 72 | 17 | 22 | 30 | 38 46 917 211 124 5 | M8x25 41
40 | 65| 72 | 17 | 22 | 30 | 38 46 966 201 124 5 | M8x25 41
30 /80| 87|20 | 25| 33 | 41 65 972 318 119 7 | M8x25 41
32 /80| 87 |20 | 25| 33 | 41 65 1037 299 119 7 | M8x25 41
35 /80| 87|20 | 25| 33 | 41 65 1134 273 119 7 | M8x25 41
38 80| 87 | 20 | 25 | 33 | 41 65 1231 251 119 7 | M8x25 41
40 | 80| 87 | 20 | 25 | 33 | 41 65 1296 239 119 7 | M8x25 41
42 | 80| 87 | 20 | 25 | 33 | 41 65 1361 227 119 7 | M8x25 41
45 | 80| 87 | 20 | 25 | 33 | 41 65 1458 212 119 7 | M8x25 41
48 | 80| 87 | 20 | 25 | 33 | 41 65 1555 199 119 7 | M8x25 41
50| 80| 87 | 20 | 25 | 33 | 41 65 1620 191 119 7 | M8x25 41

107





